BEEA BEiE X 5 BoXR B (EE) JHEB10%ER % F 50K

INE—21 A, mE. S 1 770
LEE, R HS 1 1,320

NE—22 A, mE., M 1 990
tisE. HiE. HE 1 1,870

NE—23 AN, mE. M 1 1,210
tiEE. . S 1 2,420

NF—24 AN, PEEL S 2 770
tisE. HiE. HE 2 1,320

NE—25 AW, EE., S 2 990
tiEE. . S 2 1,870

NE—26 M. mE, M 2 1,210
i, iR, HE 2 2,420

AT S AN, EE, M 3 770
iz, iR, HS 3 1,320

AT R ] M. mE, M 3 990
s, iR, HE 3 1,870

NZ—29 AN, EE, M 3 1,210
EE. HiE. BE 3 2,420

IRE—210 itiE 1 770
A 1 1,210

o (] 1 1,320

FLIN 1 1,430

Pk 1 1,650

IRE—211 dviE 1 990
A 1 1,430

E 1 1,540

FLIN 1 1,650

k] 1 1,870

IRE—212 itiE 1 1,210
A 1 1,650

= 1 1,760

Fu 1 1,870




R 2,090
K8—213 L 770
2 1,210
PufE 1,320
JuM 1,430
ek 1,650
Ke—>14 dtimE 990
7 1,430
1,540
FLIN 1,650
B 1,870
IE—215 itiEE 1,210
2 1,650
M E 1,760
JuM 1,870
ek 2,090
IRE—216 itiE 770
7RI 1,210
1,320
FLIN 1,430
Pk 1,650
IRE—217 deigE 990
M 1,430
mE 1,540
FLIN 1,650
k] 1,870
IRE—218 itiE 1,210
AN 1,650
o E 1,760
Fu 1,870
Pk 2,090
RE—219 bk 770
FLIN 1,210




PafE 1,320

2 1,650

JtimE 1,980

KE2—>20 Pt 990
Fui 1,430

1,540

7 1,870

JtimE 2,200

INE—2 2 1 ek 1,210
JuM 1,650

PuE 1,760

2 2,090

itiE 2,420

NB—222 ek 770
FLIN 1,210

1,320

7RI 1,650

itiE 1,980

INB—223 bk 990
FLI 1,430

mE 1,540

2 1,870

deigE 2,200

INB—224 Pk 1,210
Fu 1,650

P E 1,760

AN 2,090

itiE 2,420

KB—>25 i 770
FLIN 1,210

]E 1,320

AN 1,650

deiEE 1,980




KB—>226 Pk 990
FU 1,430
1,540
M 1,870

JtimE 2,200

Ng—227 ek 1,210
JuM 1,650
PuE 1,760
AN 2,090

ieimiE 2,420

KB—>28 Fui 770
ek 1,210
880
7RI 1,210

itiE 1,870
JuM 990
ek 1,430
PaE 1,100
2 1,430

deigE 2,090
FLIN 1,210
Pk 1,650
1,320
AN 1,650

itiE 2,310
Ju 770
k] 1,210
maE 880
AN 1,210

deiEE 1,870
JU 990
ool 1,430
M= 1,100




EN 1,430

e 2,090

X3 —>33 FLI 1,210
bk 1,650

PuE 1,320

2 1,650

ieimiE 2,310

KE2—>234 FLI 770
B 1,210

880

7 1,210

itiE 1,870

INF—285 JuM 990
ek 1,430

PaE 1,100

2 1,430

dtiE 2,090

X3 —>36 Fui 1,210
Pk 1,650

1,320

A 1,650

itiE 2,310

INZ—2 37 £E i3 2
N8 —>38 £E 508
K8—239 e Ed| 508
NE—240 eSS 508
KB—2 41 e Ed| 1,017
NE—242 eSS 1,017
K8—>43 e Ed| 1,017
R"e—244 2E 1,526
B—>4a5 e Ed| 1,526
RK"E—246 £E 1,526
INF—>47 A, mE. M 508




e, dtiEE. HE 1,017
INF—>48 A, mE. M 508
R, dbisE, BS 1,017
NE2—249 AP, EE, S 508
i, dLEE. S 1,017
INF—250 AW, mE, M 1,017
B, dLiEE. BS 1,526
INB—25 1 AW, EE., S 1,017
i, dLEE. S 1,526
NF—r52 AW, mE, M 1,017
B, dLiEE. BS 1,526
IX8—>53 £E 370
INZ—254 ES4ES 246




